M2 + 2 GrCk + 2 ChOc ( (GrCk)2M2(ChOc)2
M2 + 2 GrCk + 2 ChOc ( S’more 



       (common name)
What kind of reaction is this?
Why?
Makes 15 bags = 30 people

4 chocolate rectangles


6 cracker squares


3 marshmallows

2 boxes crackers

1 bag marsh

12 choc. Bars
1 bag for 2 people
M2 + 2 GrCk + 2 ChOc ( S’more
In 2013, I bought enough for 60 kids.
2 x

2 boxes crackers

1 bag marsh

12 choc. Bars

Name  

Teacher  

Class—Block 
Date  
S’mores Report
Problem:   
Rephrase this sentence:  

How many S’mores can be produced with the supplies in the zipper bag?

Hypothesis:   
What makes the most sense as a limiting reactant and why?

Experiment:
Make a numbered list of how to make a S’more.

Data:

Make a table that has a title and columns labeled with categories and units.  
Supplies, Actual Amount, # Needed for One S’more, S’mores Possible

Analysis:
1.
What is the equation for production of S’mores?

2.
List the supplies and their quantities in a data table on the back of this sheet.

3. What is the limiting reactant?

4. How many S’mores can be produced from the supplies in the zipper bag?

Conclusion:
How many S’mores can be produced with the supplies in the zipper bag? Why?
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